harnt §93

o
| AuRe
1) (o) -
W IODOW
CASE
(cotods)

—
—~

?/) léé o Cl'\“_ ":Owk- ()aﬂ.— - (7A “ HH(A)()

(JA.- ¢ 1 Lo (_(,3/«;)1) 9 {bc,u_
CIB314 lor-l 5 (3 JCZ‘{& u.)
& 2l

e Arnce jﬂhb"y?’\"“" ﬁ>32.3ﬂo '3/1" $.303 my
Q- AE~/JE§AX = 344 1V - -
How Fne™ roc e/
© sy e g U‘““%
. £ _ o W etlel ke
C—C/?a) = P ‘_'_, &/ ey I 5\

T - ¢ts x 210 eWw)“z (4—% = 2exip”
K x[¢ eV 34¢# e

[I’ 2.35¢5 = g.';:l-/é:3
AN (C“;é > Avode) / —

AL i
“oledr —)lAtl(—- A4

-2
At ~ LB o2 il 52 ep
B85 Py &= {m’;% fﬂ_.._—-———- |
/f) Ma;\-.u. ¢?5\M. %lahu,
- ¥ ~ ‘a)cl;b‘(' v -
AF v~ LT *1p
'}: B o

( 12p. ma- ) fq 615 oo I e Srid

@\ n,u.h 5"% “n 4vy.t

A~




okt A
() rm £q 505 etk RO A

-7
¢ ¥y L2x A | 2403 fande (24F)

4y 2
q
Ce) Vv, = "’)/P A - 34’&@_@@ oV l.é,l{ZXI.Bl Coal -8
N 3’/0, 2 e ) T2pxgt ¥ C-Zme v
czZmV -—3'{.%& —  Lelten Lowen X c,a.{éa..ea.:{'ahcﬂ_
2) 9:&): F . b b=bS
K o Py = 26 =\ Tolle ¢. 2
P r W ZIP

[08 W= 27 i Tt 5.1]
Aot fetlone w St Py s

BB\ 2 PA  Resdludon i Fo K )
__.__——> = F+46 * FEA\L>

234 [5166/2¢]

F = (¢.|’51Y‘ fZ_ﬁ;_@_ -$.<

2354

F=gan-gs = 4.2

3)  Ban= Y omz_(;u v | o= 40pmfo
INCANYY - pa b (%) =1 ew [z
%%‘/ ¢F= | 0O
ko 5oV
S = (c;.s’z * m.»’v) L&(mﬁa‘rﬁ ave 234 \c/(—
P | K=1g.4 xig L_Zh\
pope—e

= 22813 Lu (4‘€3>

In M= W?-ZZ/
N=- IR G

25.b



